(REA) EHNE

—. EEE(H 35, E18%)
L Efﬂtﬁﬁ—z 017,.x, LS ,-}J—jq-x}r_zq:l 'E:_l't
i

Al ).

(A) P~ (B) 2N (C) 3+ (D)4t

2. BTN~y RS ORI %

(A) -1,2 (B) 1,3

(C) -1,1 (D) -1,3

3. Ya=20F, FHIREE F SREE 2+ 1HE
R AR ).

(A) 1= (B) 3x+1

(C) 3x—? (D) 2*+1

4. FH=y' Sty R, Wa+b HIE A( ).

(A2 (B3 ()4 (D)5

5. FHIEHFE 2EIIE R 2 ).

(A) Saty-3ay=2 (B) 4a*h=Sab’=—a’h

(C) Tmn’-Tn’m=0 (D) 2% +327=5%

6. IR —iEA3as2b, F—i1 L
‘EHHa-b(a>b ) AKX A EITREE EHE A .

(A) Sa+5h (B) 10a+106

(C) 10a+6h (D) l4a+6bh

= EEE (5, 2245
7. ¥ “aShIIE ML ERERERY

8. Ha=2,b==1,Mab-b*FIEA :

9. AERMER, LES ()P HIfE 1200
[NERE, RS R e, SR N R
% S Eart, B4 AR AT h5e k.

10. XTI HENER I T, SFEHEE
0%, A EREERE .

. =1 2x+l
11. &6 “2 - 3" -

12. Emn=m+3, 2mn+3m=5nm+10= .

x,327, 50, 7,94, 1 12°, -+

R Pk, pInA2017e 2 A
IR

14. E?D:A:(m—ﬁ)fy,ﬁ:-%ﬁam, 4 4 B=

6. 012 =
n



=, BEE(ES85)
15. (& #1545, %105 )itE.
(1) Ta+3b+2b=5a;

(2) 5(=3x+dy)-6(2v=3y).

16. (F 65, 3125 5elbmE, FRE.:
3 5 =)
(1) Em—{ Em—l ]+3(4—m).ﬁ.'-¢'mmﬁjiﬁ"j

_____________________________________

17. B4 )ARHMERE XK }
ESTRFE, EERFR T A p
BRI LR, [ ki
RIFyEmEE , T i aee, EE 2a
KA, FEE= M.

(1) e bfIRERFRIZ i




18. (84 ) ARV EE R —Hamf /900 m?
HIEdE SR B, C=E I, S BIFMER . 2 A=
FfEAE, BECE KM I Z ok 128
ELENBEX T FH A f2(E , 184 X IR R x m,

(1) ZEEE e 2Dy
( At PREER);

(2) #E=PpiEFrdLifhe 6008k, N4 ,B.C=
AR AE R BIR % D0

_____________________________________

k

.....................................

19. (84 )aFem— G Fm— 1 =M
AT aliEs A A — A T, ST ey
ZEHR A A A RO 1 7 A7

20. (124)ELEEE: S T E e, b, FATHL
Fateh"BIE N E attb=—a-3b. 0. -4 2=4-3x
2=-2,

(1) H#HWRXE IERITE 4 5H9(E.

(2) #HEXNE, EHIRTEY
2 P=0it, (22— ) 2 (P+y JEUMEL

+y=

1
Xt —
2

(#5204 )
L (54 )FEHCEEanR B, R F A aE )
W TIHEL, Ye=16F, 512 0167 EFE
HlpufER .

i Ax(x g EYE ¥ i—l'—

E1



2. (154 VnE2ATR, 1925 FE 5 B AT
R FE e, Ea e sk 101
FNARMIES R, HeabrEL 20 E RS
Bl A,y

BRI EL

(1) FEIEHENK= s FSTE
R = :

FI10MERFEN K=
KB FR)

(2) Yx=20, FOPE SR EH= .

(3) Mo,y TEEEBS  SRIX P SER AR
G ZANER

A&

6 7 8
1 |
3 3
5 9
4
B2
BHEER
ET{R B IETIaNES EEER
HalE e
.C. 2D 3.C 4C 5 C 6 B
T G g o g2 I
X X+t

10. (1+10%)a. 1L —-5. 12. 1.
13. 1009, 14. %

15. (1) a+5b. (2) —27x+38y.

16. (1) Ei’ﬂ:%m—%mﬂﬂl—fim:-ﬁmﬂl

miE B A U EL, m=—1 . AR =—6m+13=19.
(2) EX=Tab-4a’b+5c-4ah—bc=—a’h—c. Yab=1,
a+e=5lt, [H =—db—c==a*b—c=—ab *a—c=—a—c=—
{ at+c J==3.

17. (1) Sz—i-ab+?.al+%-abzlab+laz. (2) 4

a=2 em,h=3 emfi, $=2x2x3+2x2°=20 cnt'.



18. (1) 10800-21x. (2) EiHiEE, 510800~
21x=6 600, f#15x=200 m?, f7 |2, 2¢=400 m?,900-3x=
300 m* E A LB.C= AR R 4 81 200
m?, 400 m*, 300 m*.

19. 9HE¥E S —y, B H o x=1 000a+b ,y=100b+
a,. x=y=999a-996=9( 111a=115b) .- 9OFERE S x—y.

20. (1) 3+5==-3-3x5=-18. (2) & +

1
at—
2

cy_zmﬁ%,ﬂ-% e e N

v )=3( 4y )==5x"=2y==5x( - M-le:—%.
Eat: 354
1. & .S AR ET s B8R I,
@ @ @@ @ & @ @
16—8——4—2—1—a4—2——1|
FREE R &R 2 18R, 2 016-
1=2 015=671x3+2, FRLL& 52 o164 B G E % £
E42.
2. (1) x+y,x+3y:3y=3x. (2) 100. (3) X
A sEF TN Bl ME 224,




